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GENERAL INSTRUCTIONS TO THE EXAMINEES :

1.

Qe FEATST 370 U9 U ) AT 37 Aa™d: o |

Candidate must write first his / her Roll No. on the question
paper compulsorily.

T UF $ Bl I SIS TURR B Al YHR B I / TR / SR
T W T 9T 6 U9 I TE g |

If there is any error / difference / contradiction in Hindi &
English versions of the question paper, the question of Hindi
version should be treated valid.

Qoft U9 A ST AT €| UEH HUTH 23 TS 24 H 3T TH IHed ¢ |

All the questions are compulsory. There are internal choices in
Question Nos. 23 and 24.

eI U9 T IR AT TE ITR-YReashl | & ofd |

Write the answer to each question in the given answer-book only.

ST U o U © ST gH UM Al 9N €, 39 @ 9 H FA Th
T A o |

For questions having more than one part carrying similar marks,

the answers of those parts are to be written together in
continuity.
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6. U HUH 2 ¥ 5 dF T TTHNIHE ¢ SHH I UAH 1 K q
15 I&] T o ¢ | T WA 6 ¥ 13 T o TAH IR 30 KT % Td
T W 14 | 21 T % TAF IR 100 &N a%F 3 & | T&H T
3 3ITF TEH T T
Question Nos. 2 to § are very short answer type. Their answers
are to be given in 1 to 15 words each. Answers to Question
Nos. 6 to 13 are to be given within 30 words each and answers to

Question Nos. 14 to 21 are to be given within 100 words each.
Marks of each question are given against it.

7. U HH® 1 % °IR 9 (i, ii, il 997 iv) &1 U 9 o I & °R
T (A, , § Ud T ) €1 W Thod H IWER IW-IRAH H
THFER 1 ehT IR o1

There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part
has four alternatives A, B, C and D. Write the letter of the correct
alternative in the answer-book at a place by making a table as

mentioned below :

UIT HHIE Wl I HT HHTET

Question No. Correct letter of
the Answer

1. (i)

1. (ii)

—

. (i)

—

. (iv)

1. () U IR i gt W YR 1 ova e § M §
(31) v (@ 3

(@ () =em
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(i)

(i)

(iv)

3
India’s position with reference to cotton production in the world
economy is

(A) first (B) second

(C) third (D) fourth. 5

IR § o7Ih TS & AISHT SENT T ISt o d e g S
TG & TS AT T IS

(37) UL FTHH T
(F) L S IO
(@) UL A TR T IO

() T A Ud T T I65 |

For coordination between the states of India and Planning
Commission for the purpose of economic planning, the Council
constituted is

(A) National Development Council
(B) National Planning Council
(C) National Child Development Council

(D) National Planning and Development Council. %
T U QS TR o T STl W §

(37) el =1 FEd COEIRF

(F) @1 1 GHAEET (3) HTES 7 S |

External source of industrial finance among the following is

(A) Issue of equities (B) Credit bills

(C) Reinvestment of profits (D) Public deposits. %
TSl U SIS T ey §

(3 e=dw (@ &mH

(W) IEEES 9 (%) T=EHI

H.L.V. positive is related to

(A) Tuberculosis (B) Cholera

(C) Typhoid (D) AIDS. 3
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IRT | -G FHA & I § Tl & F T &7 T SYINT HAT ST § 7

In India, maximum agricultural area is used in the production of

which crop ? 1
TN § g} § T Fal AR i Sl § 2

Where is sugar from sugar-beet produced in Rajasthan ? 1
¥ AR Fed (W.T.0.) i T el I T8 2

When was the World Trade Organization (W.T.O.) established ? 1
et 3CARh Ue a7k 39 (SMUEH) & Feel & TS o 0 AT |

Give the names of any two members of Oil Producing and Exporting

Countries (O.P.E.C). 1

IRT | 39 ST 7Tk Ihd i I T SAT el i ol o AH A &Y |

Write the names of any three Indian states from the view of high

industrial development. % +% +% = 1%

RA | V&N & FE qF T6E T T |

Give any three trickle-down effects of education in India.
Fedodeid

AT H 6 FAI o heal diF T doh 329l ohl Sooid ohl 91T |

Mention any three political objectives of economic planning in India.

+= +

N =
N [#—=
N [~
N =

IRA § el dF T GUR FHEHH T 3eei@ i 574 |

N =
N[ —
N[ —
N[ —

Mention any three Land reform programmes in India.
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10.

11.

12.

13.

14.

15.

16.

5
IRT H GEhRT R i g dF & T4 T |
State any three shortcomings of cooperative movement in India.

1
+5

N =
N |+~
N | —

IRA H o Ud ek A & Thi &q Hig a9 G 31 571 |

Give any three suggestions for the development of small and cottage

industries in India. +% + = = 1%

N |—
N |~

TR H 5 9Tl & STER R HATAd el diF ook ShashAl ol Sooid
HITT|

Mention any three development programmes based on people’s

T . 1,1 ,1 _ .1
participation in India. 5 t3 t53 =15

ORA § @I hl STE¥Tehdl o his oI 3TYR IdET |

State any three bases for the need of Swadeshi in India.

1 1
Tyt 15

N~
N |—

TRAT TIHTET & 3709 I T WEY i S el el did STaer ey
AT ! W I 517 |

Explain any three population related features showing Indian economy

as an underdeveloped economy. 1+1+1=3
IRA H AT TH™ TG o el i TG FHET hl WL Hi 57 |

Explain any three main functions of National Development Council in

India. 1+1+1=3
LR ST A1, 1987 & dF o= A &Y |

Write three provisions of National Water Policy, 1987. 1+1+1=3
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17.

18.

19.

20.

21.

22.

23.

6
TRAT F T I FHeal dH STREATST T I i 573 |
Describe any three features of Indian Agriculture. 1+1+1=3

IRA § FISHT et § S Th 919 i el ©: Ug T4T T Sooid i o |

Mention any six tendencies of industrial development during the

Planning period in India. 1+1+1=3
3 3TER 9RA H o Ud F2R ST & o TE ol 1§ ?

According to you, what are the three major benefits of small and
cottage industries in India ? 1+1+1=3

IRA § 99 SoT QAT & GHTEE & i geid &1 51 |

Give three suggestions to solve the drinking water problem in India.

1+1+1=3
ST FEWT T I A T STenst S g0 o6 o |

Describe the three main obstacles in people’s participation.

1+1+1=3
IRT & TRY H el IR ol GHEHAT 1 T0H Y 57 |
Describe any four sources of energy with reference to India.

1 1 1 1
1§+1§+1§+1§—6

ORA § QR G981 & Hel ©: Rl & WL & 517 |
AT

TETE & el IR TIE HET I G0 TE SR T Hl THIET 1 5 |

Explain any six causes of food problem in India.
1+1+1+1+1+1=6
OR
Explain any four main functions of NABARD and evaluate its progress.

1+1+1+1+2=6
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24, JOYEHIOT I TIM T 9RA WHR GRT 3@ T el di HeHl ol WL &I 57 |

ATARIOT & YRAT T W FHal i THIE Sl G0 bl 579 |

SREH

g MR e & G5 H YR §RT 63 T8 el aF T ol T
H Y| YT AR WA o IRAF FIHa W q I9& T A 7
U i 5 |

Explain any three steps taken by the Government of India in the
direction of Globalisation. Describe any three effects of globalisation on

Indian economy. (3x1)+(3x1)=6
OR

Explain any three efforts made by India in the context of World Trade
Organisation. Describe any three effects and challenges on Indian

economy due to World Trade Organisation.

(3x1)+(3x1)=6
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